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2 A 11,770,458 11,587,020 183,438
AN 2 1,455,801 1,300,813 154,988
L2EAHIAD B = 460,158 407,400 52,758

AREAMBENLRII S22 189,542 136,784 52,758

401 AIEHIZ 20U 91,900 77,900 14,000

01 Al£Hl 91,900 77,900 14,000
OSRIXZU (ML) AEA SA 14,000 0 14,000

405 XtotE SHI 52,642 13,884 38,758

01 MM E=SFSHI 52,642 13,884 38,758
O=S8RZ0(dg) & 38,758 0 38,758
St & S Let 180,549 124,549 56,000
& =22 . 8817 140,675 84,675 56,000
405 XtobE SHI 60,635 4,635 56,000

01 ML ESF=H 60,635 4,635 56,000
O=SRFXU (&) JI2&Hl 56,000 0 56,000
gHErras2st 80,030 33,800 46,230
TeEiEgESHEIIsHE 80,030 33,800 46,230
206 M= dl 17,280 9,000 8,280

01 M=Hl 17,280 9,000 8,280
O=fRZ0i(ald) ot 1,000 0 1,000
OSRFXU(A4) JI2 #Hl S 7,280 0 7,280

405 AHoHESHI 39,750 1,800 37,950

01 HARESF=H 39,750 1,800 37,950
OS2IZU(AE) FEF 34,650 0 34,650
OSRIRXU (ML) OHHS 3,300 0 3,300
HH2EZHI(HLAEA) 10,314,657 10,286,207 28,450
Jl=3Hl 368,420 339,970 28,450
Jl=&Hl 368,420 339,970 28,450
201 et 264,570 239,620 24,950

01 AtR2teld] 120,490 98,340 22,150
OLYHE ARFI(EH) 78,050 75,600 2,450
Og=isd XL 50,000 30,300 19,700

02 3323l 144,080 141,280 2,800
O2d? BB2IHI(EH) 144,080 141,280 2,800

202 O4dl 100,700 97,200 3,500

01 =LHAOYI 100,700 97,200 3,500
AHHAZASFE(E 111,500 108,000 3,500




